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Let's see the way each of these 3 methods simplifies (x + 3)(2x — 1):

‘

a. FOIL method: ~
e Multiply each pair of terms that the acronym indicates: First terms, Outer terms, Inner terms,

and Last terms.

b. Old fashioned multiplication: c. Box/Grid (Punnett square) method:
s Lline up expressions, make sure o : » Create a grid with each term of one
include zero’s for missing ferms polynomidl listed across the top and
 Multiply like you did in 3 grade each term of the second polynomial

listed down one side. ,
s Fillin each box within the grid by

multiplying the row by the column.
s  Simplify the products.

From previous study in mathematics, we know that exponents show how many factors are being
mulfiplied.

Example 2: Expand each expression.

Q. 34 == s - o b. 2m 3p2';:. e

c. (5y2x) (-4Y x2) -

Reasoning: How isq the product of two monomials simplified? Simplify Example 2c.



Example 3: Simplify.
Q. 5x2 (-3x3+x2-7x + 4) b. (-8a3b){2a 2+ 3ab — 4ab ?)

Example 4: Simplify.
a. (3b+7)(2b + 4) b. {2y -5)(2y +5)

c. (6g-7)2 d. (8e3+2)(-3e4-1)

e. (7m-2)(83m2+ 4m - 8) f. 9w (2w —-3) + (8w + 5){3w - 4)
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| __ Find each product.

E 1) (m+3)2m-13) 2) (p+1)4p-5)
3) (5n-1)(4n-4) 4) 3al4a —1)(5a-2)
5) (-8k—4)(3k-7) 6) (6x — 6)(—6x —4)



7y —2(~6m — 8)(—6m + 4)

9) (-7a—5)3a*-3a+4)

11) (—v — 4)(v2 +6v— 3)

13) (=3x* + 6x + 8)(6x> —x + 1)

8) (-7v—-6)(4v—8)

10) (2n+3)(=2n% +3n+3)

12) 5(-4a+ 6)(2a* - 5a - 3)

14) (n* +2n+2)(4n*> =n—8)
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Let's see the way each of these 3 methods simplifies (x + 33(2x -1):

a. FOIL method: ( Oistfude 2
e Multiply each pair of terms that the acronym indicates: First terms, Quter terms, Inner terms,
and Last ferms.

: /;j\ | x(@e-)+3(ax-1)
(Y+3Y(Q><~f)
W I~ x +€x - 3

bk 5 a5k -3]

IC;ZXE%'SX -3

%
b. Old fashioned multiplication: c. Box/Grid (Punnett square) method:
e line up expressions, make sure to e Create a grid with each term of one
include zero's for missing terms polynomial listed across the top and
»  Multiply like you did in 3 grade each term of the second polynomial

listed down one side.
e Fillin each box within the grid by

)("i’ 3 multiplying the row by the column.
e Simplify the products.
X AX ~
=% -3 x | A ~
>
chx' + 4x O v 9 > .

253+ &5 =3 X X ><

3 |4 | 3

2" +5x% -3

From previous study in mathematics, we know that exponents show how many factors are being
multiplied.

Example 2: Expand eoch expression.

o axi=- ~Bext b. 2m3p2=_ (Q m /0
2 -

e (By2x)(dyxt)=_ B ryPe X o ~HeyFex?
J J

Reasoning: How is the product of two monomials simplified2 Simplify Example 2c¢.

5 2



Exampile 3: Simplifyv

a. 5x2 (-3x3 + x2—7x + 4) b. {-8a3b){2a 2+ 3ab - 4ab?)
“/5x5+5x9~35x3¢90x2 | 5] Ay ué? Ve 473
’ 1L 24t b+ 3245

Example 4: Simplify.

a. (3b+7)(2b + 4) b. (2y-5)(2y + 5)

3b(2br4) +7(2b+ 1) 2y(2ys) =5(2445)
‘4 ) -,‘/ 44622} 2, /0y _ N W

€4 '&L ¢ l/7+j 10y =25

c. (6g-7) (éju?)/{]"’;) d. (8e3+2)(3e4~1)
re’ (""@ i}fQ( Se ..g)
\ sz‘//elz-fe —Le «ﬂj

TN )

e. (7m —2)(3m?2 + 4m - 8) fow(2w—3) + (8w + 5)(Bw—4)
Sm 4 %m - F ?"“(Q‘ﬂ"ij + Xw(jw~id +§(3“w "Lrj
< A~ L fwlﬁ?w +2 4w 23, HEw "DZO
“Ga=Smt It o I
+2m +;g,,,‘2~5'6m O . Z/.ZWQ*-S-?W +f’f§W”‘“c‘Q/D

74@”7/ q [ —2o |

.



__ Find each product.
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1) (m+3)2m-3)

2m% +3m—9

3) (5n—1)(4n-4) 4) 3a(4a-1)(5a —/2)

20n” — 24n + 4 20a% — 1361 2
’ B

[éf‘ 394"+ 6a |

.o

5) (-8k—4)(3k—7) 6) (6x —6)(—6x — 4)
—24k% + 44k + 28 —36x% +12x +24



7y —2(—6m — 8)(—6m + 4) 8) (-7v—6)(4v-8)
_36m*+24m — 32 | ~28v” + 32y + 48

3

- ?anl~4glm+‘ézjf

9) (-7a-5)3a*-3a+4) 10) (21 + 3)(=2n* +3n +3)
21a° + 6a* — 13a - 20 —4n® +15n+9

11) (v -4)* +6v—-3) 12) 5(~4a + 6)(2a> = 5a - 3)
7 = 10v? =21y + 12 —8a37+/312a2”ff§;: 18

;, ~40a>+ 604" - 700[;(?0 [

N

13) (=3x% + 6x + 8)(6x> = x + 1) 14) (n? +2n+2)(4n> —n—38)

~18x* +39x% +39x* — 2x + 8 dn* w70 —2n* — 180 - 16



